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What if he would want to say I was a 7o

OVERVIEW

The X713 cites a MIwn concerning a case where 0’79 claimed that a person ate
251 and the person denies it. n"9 maintains that he is required to bring a j27p,
while the 0221 maintain that he is not required to bring a 7279, because nn
N 7T M2 121, Our MddIN examines this explanation of the o*drm.

— DTY /790 AN 1KY JY 1IN DINT NIYIYH
According to the opinion in Mn>12 'on that the reason the 2121 exempt him
from bringing a j27p is because (concerning a j27p) a person is believed

regarding himself more than a hundred witnesses, then we are required to
assume -

- 2"1)32‘{? N 2297 199290 91297 NYY ON INN
That this explanation of 9%Y» 7%9° ax 7 which the 7awn offers is not the
true explanation of the 2°nmdm, but rather the 2°mOn are offering this

explanation according to the view of 1»''9 that 0>y are stronger than the person.
Nevertheless the 2°n2r maintain that in this case [even according to »"1 he should not be
obligated to bring a 277 since] he may not be contradicting the 0>7v, for (by saying X%
°n2oK) he really means I was a 712 and therefore M5 from a 127p.
— (0w .8, 97 0v) 19 YIN P93 [PNIPNTI] (NOIN19)
As in mentioned in ¥ 2R P75 -
— S9INP 1NVOIT RNV NIYSY *J19NY7
(For) [And] according to the other opinion, the 0°»on7 are giving their

own reason (and not merely responding to n").>

' See previous 1% 7n 7" MooIN.

Tt is possible that Mmoo is disturbed by the fact that the X7 cites the reason of 9m» 7% oX 7 (which
according to NM201N means 7°112°7 ¥INM), so he is not contradicting the a°7v. The difficulty is that nmooIN
199 1in 11"72 stated that our X*20 follows the RX1w°2 of WX 7X»» N ¥"Y 181 07X (and that is why he is Ww»
12pn), for 10 is stronger than 0*7v. However our X°310 does not follow the view of Im% 7¥7° ok n; how
therefore can we explain the m% 7% oX . The answer is that the 0m5n are merely addressing »"1. See
footnote # 7.

3 See 717 7, that there is a X0" in MN™>3 that MARp 1" 5w 11279, However that X073 is not found in our
mna. We may need to say that 17 11K P92 ®nK7d refers [merely] to the two mnw®.

* See MW Pan that in the first print the X0 was 'Xaw*> 77X (not "T7RYT). See also »"m.

5 The differences between the two M will be in two cases; where 079 claim 251 n99X and he claims X5
593 °n7aR or where he claimed 2717 *n%5X and the 0>y claimed n%R X7, According to the X1w°7 of JnX1 7R
R 781 N N3, the person will be believed against the 07y, however according to the X% of ¥
121 n12, in these two cases he will not be believed because there is no 7 7% oX 7.
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Mmoo explains what is meant by 121 Y% 7% ok o
— 5919 99 N¥Y ON N ‘YWY PN

And we cannot interpret this 221 7739° ax 72, etc. to mean -
— 7551957 ot NN YA INT 10 SNYIN XY 9129 NI NIIY

That he should be believed what he is claiming that ‘I did not eat it at all’

for he has a % that he could have claimed I ate it 79%22; this is incorrect -
— *Nyn D1y DYPN 1 NPT

For this is a »» which contradicts 2°7¥! o7y are stronger than a 1 and he
would not be believed.

mooIn offers his explanation of the 21 % 7% ox on:
—MMYIN NY 9NV N1 N 919195 NON

Rather the 2151 mean to say that even concerning that which he claims,

namely 95K R -
— U NIN ANV HNTIN NY 199 1927 XY 919

He can interpret his words of >n%5x X? and say I meant ‘I did not eat the

awa 250, rather I ate it 7°2°, and is therefore not contradicting the 27y, who

cannot be sure whether he ate it 332 or 7.
— 190 TOIY MMIN 9IDAD) INYT NN TON NN 1PTA NY INYIN KD 9INRYIT 99991

And we are discussing a case that when he initially stated "n%>X X%, he
was not cross-examined what he meant (whether %93 *n%oX X% or “n%o8 X

A) but later he claimed that he ate it 7972 -
— P NION MY DN ROW INYT NN 79 SNYIN R 99NV N7 1929 9920

So the 1129 maintain that when he initially claimed >n%s8 X%, his intention

was that he did not eat it axwa, but rather 7512 and therefore he is not
obligated to bring a 127p -
— 0195 792 PN YNNI N HHVADY 39 DY X 9NN r29)

However according to »''9, even though he eventually said I was a 75,

that is inconsequential -
— 19 PYMY NN P IR NINNA ON 9NN 229 99N Co2na nnna) MIN 1917

For this is what is stated in >"1n; »''1 said if initially when confronted by

® In the mwn the WY is >N 7 1 A% ar 71 (which can be interpreted to mean 7°M12°7 yann); however
in the discussion later in the RX»3, the mz;b is 1277 NYOR RY Sn1 MR %D 0D DM TR R v X7 1. This
expression seems to be in accordance with the w197 1% which n1o1n negates.

7 This seems to be X1 7"72 *"w5. The advantage of this w1 is that according to this w15, even if we
follow this X1 of 121 7¥7° o 71, it will also prove that 1% is stronger than 0>7y. That would explain why
the &3 here cites the phrase 131 972 17X ox 7. See footnote # 2

¥ The credibility (of his claim that *n9ax &) based on a 1% is not sufficient to override the testimony of the
o7y (who claim that he ate 257).

9171 (NRVMT XNWDB) 7217 K27,
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the 0°7¥ that he ate 2591, he said I was a 7°1%2, we heed his statement and exempt
him from bringing a 127p -

— 99 PPV PR SNMN T N NNINNIY 010 93 Py 11 1vh Bx
If, however, we were discussing with him this allegation of eating 177, the

entire day, and eventually he said I was a 7>, we do not heed him."!

nooIN asks:
— YU MY DOUN DN PR XN NN PN 91399 NI TN “ﬂmm oN)y

And if you will say; and is he believed to claim, I was a 75, for there is a

ruling that a person cannot accuse himself of being a yw=?!
— P53189Y 53929 93199 23 (0w 2,0 941 PITNIDT RNIP DI VINTI

as the X7n3 states in the first P9 of 19971770 NOon regarding the case where

someone claimed ‘he sodomized me and I willingly acquiesced’. How can we
accept his admission that he did it 7m3; by saying so he is making himself into a yw"
(doing an T3 717°2y), and the rule is Y Mxy own K"K

N1B0IN answers:
— II8Y 9D NI PNT UMY Y

And one can say that the rule of yw7 Xy o°wn X"X means that he is not

believed to disqualify himself as a witness -
129195 P9IN XYANY DY 1IN NYN DYIY XD YaN

However here where he is doing 73ywn (by admitting that he did it 71»2),
and he does not want to bring v into the 7791, in this case he is believed.

SUMMARY
According to the X122 of ¥R 'Pn 2N ¥"Y 1K1 27X the X120 of 7% X 77
M7 is only n" 5w 1275, The Mm% 7¥7° oK 77 is not a regular 131, but rather

10 See the w"wn who amends this to read nany 17 (with the 7">3).

1 According to this R1w°? the np17nn between »n" and the 0°no1 is (merely) whether we are 7°112°7 ynn
after a considerable amount of time passed from when he said *n?3x 5. See ‘Thinking it over’ # 1.

"2 See “Thinking it over # 2.

13 The case there is where 1297 and 1waw testified that ™% was 32187 ¥211. However 123X1 admits that he
acquiesced willingly. This would seemingly make 727 into a yw1 (for he was 72w on 157 20wn) and
seemingly m7v? 709. Nevertheless the rule is that we accept s'121R1 testimony that ™% was J2IX7 y217;
however we do not accept the testimony of j21X7 concerning himself that he did it willingly. 727 is
considered a relative to himself (¥xy ¥X 217p 07X) and therefore he cannot testify against himself that he
did an 772y, however he is believed concerning 17 that "2 did an 77°2y. [This is known as X127 1375, We
split his statement; part is believed (concerning "1?) and part is not believed (concerning himself).]

' See “Thinking it over’ # 3.

15 9"yaxx means that he is not believed to the extent that he should become M7y 5109; however here where
he is sincere that he does not want to being 7Y% 1211, we cannot coerce him to bring a 127p.
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a M7 yonn. We cannot apply here the rule of 7"vnRX, since he is
interested in doing 712wn in order not to bring 7YY PN

THINKING IT OVER

1. When the o°»on rule that we are 7°2°7 Y nn, does that mean we are
required to ask him what he means, and if he says 7> X?X 2w *n2oK X7 he is
believed, or do the o»on mean that he is believed (that he ate it 7°122), even
if he was not specifically asked?'

2. moon asks how can we believe him that °n»7 71 when the rule is X"X
Yywn mey oown. Is this question apply equally whether we interpret ax 1
Tm? %7 to be a regular wn (as the w19% X understands) or whether we
interpret M7 17X OX 7% to mean 7°N2°7 YONR (as MooN understands i‘[)?18

3. mvoIn asks how can we believe him that *n>7 71 when the rule is X"X
v ey own."” Seemingly however our case (of *n*i 1) is different from
the general cases concerning 71"v2RX. In those instances there is no cause
(aside from his admission) to assume that he is a yw7; however in our case
the 0>7v are testifying that he ate 2%, and all he is explaining is that it was
712. He should be believed and exempt from a 1201 %°

16 See [ 1"7 X,2> MN™3 MdOIN and] K3 NIX MY DR,
17 See footnote # 12.

18 See mx M.

19 See footnote # 14.

2 See 0" WL
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